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FACULTY OF COMMERCE
M.Com. (First Semester) EXAMINATION
MAY/JUNE, 2022
(New Pattern)
STATISTICAL ANALYSIS FOR BUSINESS

Paper-MC-II
(Friday, 1-7-2022) Time : 9.30 am. to 1.15 p.m.
Time— 3.45 Hours Maximum Marks—T75
N.B. .— (i) Attempt all questions.

(z1) Question No. 1 is compulsory.
(@iz) Use of simple calculator is allowed.
(tv) Each question carries equal marks.

1. Two random samples were drawn from the normal populations and their values
are (‘F’test): 15

T U AR HEIAYA S U T Hddl 3Tled. el fhud! Jeial JHI 3TTed
A =30, 26, 36, 37, 33, 32, 28, 34, 35, 29
B =37, 43, 52, 45, 42, 44, 48, 38, 51, 53, 40, 47

Test whether the two populations have the same variance at 5% level of signifi-

cance.
5 T AT UIdesien Sl alhaedd foerur (Variance) T 3T 1 TGS Al
AT,
(Fps=310for V., =9and V, =11
2. If: 15
r., =055 G, =T
r.,=0.80 G,=8
r,, = 0.60 o, =10
P.T.O.
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Find out multiple regression :
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@ b
@i) b
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r,=0.55
r,=0.80
r,, = 0.60
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Or
(fenam)

01=7
58
c.=10
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In a college, out of 200 students, 150 were boys. In an examination, 120 boys and

40 girls passed. Apply Yule’s coefficient to determine the association between

sex and success in the examination. Interpret the result.

T HeTfaanerard, 200 forneatiss 150 9 2. TRE aeciedrdent 120 Ja 3701 40
Tl ST ST, Forot Far 7T o= Harer Tured qReEgH S Fed Od A refared

.
If:
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r.,=0.60
r.,=0.40
r,,=0.70
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( 3)
Find out partial correlation :
@) ry,,
@  rg,
@) 1,
S s
r,,=0.60
r.,=0.40
r,,=0.70
AT TEHsH Qe
@) r,,
@  rg,
@) 1,
Or
(fenam)
If:
r,,=0.80
r.,=—0.56
r,,=0.40
find out multiple correlation :
@) R,
@ R,
S s
r,=0.80
r,=—0.56
r,,=0.40
EHEEEEEERICI
@) R, .,
@ R
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Three samples are taken comprising 120 men, 150 women and 130 children.

Each asked a best policy represent out of three and their feelings (reaction) are

as follows. Apply x2 test at 5% Level of significance. 15
Occupation Reactions Total
A B C

Men 80 30 10 120
Women 70 40 40 150
Children 50 50 30 130
Total 200 120 80 400

Aoos =7.82=7?

o1 SHTIIS! I T € SHI0Ard 3l : 120 T&S (AUE) , 150 Afger 37for 130
N AN N A NN faY ~ ~ o~ ) fa)
. TR qdeh] FNTe Arsieield= FelaH Ffdfshan e shivard 3Tl df gerel JHTl

3R, %2 HELT T

a9 wfeferar THIT
A B C
e (HI0H) 80 30 10 120
afget 70 40 40 150
el 50 50 30 130
TR 200 120 80 400
X205 =7.82="
Or
(fenam)

Two types of drugs were used on 8 and 7 patients for reducing their weight.
Draw ‘A’ was imported and drug B indigenous. The decrease in the weight after

using the drugs for six months was as follows :
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Drug A Drug B

9 10
11 12
13 10
11 14
15 9
9 8
12 10
14

Is there a significant difference in the efficiency of two drugs ? If not, which drug

should you buy ?
(ForV=13,¢t .=2.26)

2 40,05
IS HHT HLOATES! 8 370 7 o) <9 Fehi=al Sioelt aroodrd e, 3ioet A &
AT heAell BIdl ST SToe ‘B’ g 9 gidl. el Aie—ardrat 3ot e Eeid
THIOT ST ShHT Tl 3T

frwet A fwet B

9 10
11 12
13 10
11 14
15 9
9 8
12 10
14

P.T.O.
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Is there a significant difference in the efficiency of two drugs ? If not, which drug
should you buy ?

a2 Sieer=an qfomHeRtd sied STYTd BIVATHRE Hidh 378 i ? ST ATal, d¥ hIvfdt ioeft
=1 BREl e ?

(For V=13 toos = 2.26)

Attempt any two of the following : 15
(1)  Find out expected frequencies from the following observed frequencies :
Colours Male Female Total
Green 40 60 100
White 35 25 60
Yellow 25 15 40
100 100 200
2 If:
AB =248
Ap =81
aB =92
ap =579

find by Yule’s method Q = ?

(3)  Limitations of partial correlaion.
(4)  Advantages of multiple correlation.
ETATeTUehT ShIUdR! 219 digel :

(1)  JeI Afgdioe STufeyd aRaTidl Sl :

wr ey wfget TRUT
feten 40 60 100
req 35 25 60
Torereat 25 15 40
100 100 200
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2 S
AB =248
Ap = 81
aB =92
aP = 579

oA THATAR Q = ?
(3)  Aifieh TEHauT=A1 HafQl
(4) gy GEHH™ Hed (HRR).
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